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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 36 gSaA  

 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 36 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : C 

MAP 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against them. 
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 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u gksA  

  Answer to each question carrying 1 mark should not exceed more than one 

sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA  

  Answer to each question carrying 2 marks should not exceed 30 words.   

 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls vf/kd u gksA  

  Answer to each question carrying 3 marks should not exceed 40 to 60 words.  

 (vii) 5 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA  

  Answer to each question carrying 5 marks should not exceed 100 to 125 

words. 

 (viii) iz'u la[;k 9 ,oa 29 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk ekufp= dks viuh mÙkj&iqfLrdk ds lkFk 

vo'; layXu dhft,A 

  You must attach the given outline map of India for Question Nos. 9 and 29 

along with your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; fyf[k,A 

  You must write your Answer Book Sr. No. on the map. 
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   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 23 

[ HISTORY ]    

  1. xk;=h ea= fdl osn ls fy;k x;k gS \ 1 

 (A) lkeosn   

 (B) ;tqosZn 

 (C) _Xosn  

 (D) vFkoZosn 

 From which Veda 'Gayatri Mantra' is taken ? 

 (A) Samveda (B) Yajurveda 

 (C) Rigveda (D) Atharvaveda 

  2. egewn xt+uoh }kjk Hkkjr ij dqy fdruh ckj vkØe.k fd;k x;k \ 1 

 How many times attacked by Mahmud Ghaznavi on India ? 

  3. eslksiksVkfe;k dk vk/kqfud uke ............ gSA 1 

 The modern name of Mesopotamia is ............ . 

  4. jkse dks lkr igkfM+;ksa dk uxj D;ksa dgk tkrk gS \ 2 

 Why is Rome called the city of Seven Hills ? 



  ( 5 ) 107/(Set : C) 

107/(Set : C)   P. T. O. 

  5. [kyhQk dkSu gksrs Fks \ mudk D;k dke gksrk Fkk \ 3 

 Who were the Caliphs ? What was their job ? 

  6. ljLorh&fla/kq lH;rk dh uxj ;kstuk eas lM+dksa o xfy;ksa dh O;oLFkk dSlh Fkh \ 3 

 How was the arrangement of roads and streets in the urban planning of 

Saraswati-Indus Civilization ? 

  7. xqV-fujis{k vkanksyu D;k Fkk \ 3 

 What was the Non-aligned Movement ? 

  8. tSu /keZ dh mRifÙk dSls gqbZ \ tSu n'kZu o ckS) n'kZu esa D;k&D;k lekurk,¡ gSa \ 5 

 How did Jainism originate ? What are the similarities between the Jain 

Philosophy and the Buddhist Philosophy ? 

vFkokvFkokvFkokvFkok    

OR 

 1857 bZ0 dh ØkfUr dks egku LorU=rk la?k"kZ D;ksa dgk x;k \ 

 Why is the Revolt of 1857 called the great struggle for Independence ? 
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  9. fn, x, HkkjrHkkjrHkkjrHkkjr ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks n'kkZb, % 

 On the given outline map of India show the following places : 

 (i) og LFkku tgk¡ egkRek xk¡/kh th us ued dkuwu rksM+kA 1 

  The place where Mahatama Gandhi ji violated the Salt Law. 

 (ii) og LFkku tgk¡ vlg;ksx vkanksyu us fgald :i ys fy;kA 1 

  The place where Non-Cooperation Movement turned into violent. 

 (iii) og LFkku tgk¡ lkbeu deh'ku Hkkjr eas igq¡pkA  1 

  The place where Simon Commission arrived in India. 

 (iv) og LFkku tgk¡ tfy;k¡okyk ckx gR;kdkaM gqvkA  1 

  The place where Jalianwala Bagh massacre took place.  

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 9 ds LFkku ij gSa %  

  The following questions are only for Blind Candidates in lieu of Question No. 9 :   

 (i) ml LFkku dk uke fyf[k, tgk¡ egkRek xk¡/kh th us ued dkuwu rksM+kA 1 

  Write the name of the place where Gandhi ji violated the Salt Law. 
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 (ii) ml LFkku dk uke fyf[k, tgk¡ vlg;ksx vkanksyu us fgald :i ys fy;kA 1 

  Write the name of the place where Non-Cooperation Movement turned into 

violent. 

 (iii) ml 'kgj dk uke fyf[k, tgk¡ lkbeu deh'ku Hkkjr esa igq¡pkA 1 

  Write the name of a city where Simon Commission arrived in India. 

 (iv) ml LFkku dk uke fyf[k, tgk¡ tfy;k¡okyk ckx gR;kdk.M gqvk FkkA 1 

  Write the name of the place where Jalianwala Bagh massacre took place. 

   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 23 

[ POLITICAL SCIENCE ]    

10. flagyh dks jktHkk"kk dk ntkZ dc fn;k x;k \ 1 

 (A) 1947  

 (B) 1949  

 (C) 1950  

 (D) 1956 

 Sinhala recognized as official language in ............ . 

 (A) 1947  

 (B) 1949  

 (C) 1950  

 (D) 1956 
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11. le:i lekt dk vfLrRo ............ esa gSA 1 

 (A) Hkkjr vkSj vesfjdk  

 (B) Hkkjr vkSj LohMu 

 (C) teZuh vkSj LohMu  

 (D) LohMu vkSj vesfjdk 

 Homogeneous Societies exist in ............ . 

 (A) India and USA  

 (B) India and Sweden  

 (C) Germany and Sweden  

 (D) Sweden and USA 

12. Hkkjrh; lafo/kku us ............ Lrjh; 'kklu O;oLFkk dk izko/kku fd;k gSA 1 

 Indian Constitution provides for a  ............ tier of government. 

13. Hkkjr eas fdl izdkj dh ny O;oLFkk gS \ 1 

 Which party system is followed in India ? 

14. dkSu&lk ny gfj;k.kk dk ,d {ks=h; ny gS \ 1 

 Which party is a regional party in Haryana ? 
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15. lÙkk dh lk>snkjh D;k gS \ 2 

 What is power sharing ? 

16. xzke lHkk D;k gS \ 2 

 What is Gram Sabha ? 

17. usiky rFkk cksyhfo;k ds vkUnksyu eas eq[; varj D;k Fks \ 3 

 What were the differences between Nepal and Bolivia's movement ? 

18. lkekftd varj dc lkekftd foHkktuksa dk :i ys ysrs gSa \ 3 

 When does a social difference become a social divisions ? 

19. jktuhfrd nyksa dh t:jr D;ksa gS \ 3 

 Why a political parties are needed ? 

20.    Hkkjr esa ^jktuhfrd lq/kkjkas* ;k ^yksdrkaf=d lq/kkjkas* dk o.kZu dhft,A 5 

 Describe the 'Political reforms' or 'Democratic reforms' in India.  

vFkokvFkokvFkokvFkok    

OR 

 jktuhfr eas lkEiznkf;drk dk D;k ;ksxnku gS \ 

 What is the contribution of Communalism in Politics ? 
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   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 19 

[ GEOGRAPHY ]    

21. buesa ls dkSu&lh ^jch* Qly gS \ 1 

 (A) pkoy (B) eksVs vukt  

 (C) puk (D) dikl 

 Which of the following is 'Rabi' crop ? 

 (A) Rice (B) Millets  

 (C) Gram (D) Cotton 

22.    >kj[k.M eas fLFkr ^dksMjek* fuEufyf[kr esa ls fdl [kfut dk vxz.kh mRiknd gS \ 1 

 (A) ckWDlkbV  

 (B) vHkzd  

 (C) yksg v;Ld  

 (D) rkack 

 'Koderma' in Jharkhand is the leading producer of which one of the following ? 

 (A) Bauxite  

 (B) Mica  

 (C) Iron Ore  

 (D) Copper 
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23. ^pk;* dk ikS/kk fdl tyok;q esa mxk;k tkrk gS \ 1 

 The 'TEA' plant grows well in which climate ? 

24. ^jcM+* fdl {ks= dh Qly gS \ 1 

 'Rubber' is a crop of which area ? 

25. yksg v;Ld ds izdkj crkb,A 2 

 Tell the types of Iron-Ore. 

26. ^[kjhQ* Qlysa D;k gSa \  2 

 What are the 'Kharif' crops ? 

27. fofuekZ.k D;k gS \ 3 

 What is manufacturing ? 

28. fofuekZ.k dh ifjHkk"kk nsrs gq, lwrh oL= m|ksxksa dh O;k[;k dhft,A 5 

 Define manufacturing Industry and describe about Cotton Industries in India. 

29. fn, x, HkkjrHkkjrHkkjrHkkjr ds js[kk ekufp= esa fuEu dks n'kkZb, vkSj muds uke mudh fLFkfr ds fudV fyf[k, % 

 On the given Outline Map of India show the following places and write their 

names near their situations : 

   (i) ghjkdqM cka/k   1 

  Hirakud Dam 
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 (ii) eqEcbZ lkW¶Vos;j VsDuksykWth ikdZ   1 

  Mumbai Software Technology Park 

 (iii) gSnjkckn vUrjkZ"Vªh; gokbZ iÙku   1 

  Hyderabad International Airport 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates Only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 29 ds LFkku ij gSa %  

  The following questions are only for Blind Candidates in lieu of Question 

No. 29 :  

   (i) ghjkdqM cka/k fdl unh ij gS \   1 

  Hirakud Dam is on which River ? 

 (ii) eqEcbZ lkW¶Vos;j VsDuksykWth ikdZ fdl jkT; esa gS \  1 

  Mumbai Software Technology Park is in which State ? 

 (iii) ^gSnjkckn vUrjkZ"Vªh; gokbZ iÙku* fdl jkT; esa gS \ 1 

  'Hyderabad International Airport' is in which State ? 
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   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

30. lkoZtfud rFkk futh {ks=d vk/kkj ij foHkkftr gSa % 1 

 (A) jkstxkj dh 'krs± 

 (B) vkfFkZd xfrfof/k;ksa ds LoHkko 

 (C) m|eksa ds LokfeRo  

 (D) m|e eas fu;ksftr Jfedksa dh la[;k 

 The sectors are classified into public and private sector on the basis of : 

 (A) Employment conditions 

 (B) The nature of economic activity 

 (C) Ownership of enterprises 

 (D) Number of workers employed in the enterprise 

31. oS'ohdj.k ds foxr nks n'kdksa esa nzqr vkokxeu ns[kk x;k gS % 1 

 (A) ns'kksa ds chp oLrqvksa] lsokvksa vkSj yksxksa dk 

 (B) ns'kksa ds chp oLrqvksa] lsokvksa vkSj fuos'kksa dk 

 (C) ns'kksa ds chp oLrqvksa] fuos'kksa vkSj yksxksa dk 

 (D) mijksDr esa ls dksbZ ugha 

 The past two decades of globalization has seen rapid movements in : 

 (A) Goods, services and people between countries 

 (B) Goods, services and investment between countries 

 (C) Goods, investment and people between countries 

 (D) None of the above  
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32. dks"Bd esa fn;s x;s lghlghlghlgh fodYi dk iz;ksx dj fjDr LFkku dh iwfrZ dhft;s % 1 

 ............ ifjokjksa dh _.k dh vf/kdka'k t:jrsa vukSipkfjd lzksrksa ls iwjh gksrh gSaA ¼fu/kZu@/kuh½ 

 Fill in the blanks, using the correct option given in the bracket : 

 Majority of the credit needs of the ............ household are met from informal  

sources.   (Poor/Rich) 

33. vFkZO;oLFkk ds izkFkfed {ks=d ls D;k vfHkizk; gS \ 2 

 What is meant by primary sector of economy ? 

34. ek¡x tek dks eqnzk D;ksa le>k tkrk gS \ 2 

 Why are demand deposits considered as money ? 

35. i;kZoj.k esa fxjkoV ds dqN ,sls mnkgj.kksa dh lwph cukb, tks vkius vius vkl&ikl ns[ks gSaA 3 

 List a few examples of environment degradation, that you may has observed 

around you. 

36. fodflr ns'k] fodkl'khy ns'kksa ls muds O;kikj vkSj fuos'k dk mnkjhdj.k D;ksa pkgrs gSa \ D;k vki tkurs 

gSa fd fodflr ns'kksa dks Hkh cnys esa ,slh ek¡x djuh pkfg;s \ 5 

 Why do developed countries want developing countries to liberalize their trade 

and investment ? What do you think should the developing countries demand in 

return ? 
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vFkokvFkokvFkokvFkok    

OR 

 Hkkjr esa miHkksDrkvksa dks leFkZ cukus ds fy;s ljdkj }kjk fdu dkuwuh ekin.Mksa dks ykxw djuk pkfg, \ 

 What legal measures were taken by the government to empower the consumers 

in India ? 

S 

 


